1. What kind of overlap can you identify in the case between the family system, the ownership system and the business system? Who is belonging to what?
· wives are out of business but they are owners

· children which are in business and owners are Erik, Pierre-Karl, Isabelle, Anne Marie

· the only children in executive positions are Erik and Pierre-Karl

· there are managers which are not part of the family neither owners

· the overlapping is very complicated and more complicated thanks to the fact that Mr. Peladau had three wives and children from all of them
2. Where does prevail the family perspective and where the management perspective in critical issues (recruitment, salary, evaluation, …)
· Family side:

1. transfer of shares

2. fear of retirement

3. defence of reputation of one of his children

· Business side:

1. no primogeniture rule

2. tension and grown-up people affair

There are constant compromises between the family and the business which bring to sub-optimal decisions.

3. Which of the 6 components of transitions in family firms can you identify in the case?
· Pressure from aging NO

· Pressure from family changes NO

· Trigger (unanticipated event) : death YES

· Disengagement NO

· Alternatives NO

· Clear choices NO

· Commitment NO

4. Which obstacles you see in this renewal process? 

There is no management succession plan from the family side but it seems there is from the management side.
· successor identified since the beginning NO

· is there a survival kit NO

· is there a grooming behaviour NO

Obstacles:

· control centered in Peladau

· lack of appreciation, love

· overlook past (he against his father)

· indirect or lack of communication

· poor expression of feelings

This case tell us how complex is such transition from one generation to another even when a managerial perspective is present and when a renewal is expected to occur.
